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Tim‘eAlloweel‘: 2 Hours Marks: 75
Note:- There are THREE section in this paper i.e Section A,B,
and C.
Attempt Section-A on the same paper and return it to the

Superintendent within the given time.
No marks will be awarded for Cutting, Erasing or

Overwriting. Marks of Identification wnll lead t
all

Mobile Phoe efc are not allowed 1 \“
~ Time Allowed: W ﬂ Marks:- 15

Y.

Whrite t ect option i.e. A, B, C or D in the empty
box pmvnded opposite to each part.

i, The quotient of two complex numbers Is

Real Imaginary ~ Read or None C
imaginary

i, Expression of the form P(x)/Q(x) is
Biomial  Rafional  Ratonal  Nome A
Expression  number Algebraic
. expression
i, HCF of £-b° and absab+b? is

ath :l-l))2 a-b 2+ab+h%© m
v, The solution set of |-x| =01s __ I! “‘ @
j \\“{ﬁl @U W

I
N ol-
The midwyfrvhe segment AB where A (3,0) and

B(3,4) IS f Y J

649 62 (3,3 3,2 D

Vi,

are concurrent

Bisectors of Perpendicular Medians of  Allof D

the angles of  bisectors of thea triangle  of the

a

vil,  XXy-yxty=
W },2 )

triangle  sides of triangle above

X +y2 Xty Xy A

viii.  In equilateral tnangle ABC the bisectors of

lwlll“
i Logy

divides the triangle into the two congr @%@@\1
A “ @Q@ @ wone of C

its angles

il None B
X 32-b2= : A

T R (a-h)ach) None' B -
X  Diagonals of a squareré | f0 each other.

Perpendicular Not:Congruent” Congruent Both A&B B
s 1\ [The eharacteristic of log 0.00325 is

3

-3 ) { C.

xii. ~ Factors of P44 are
x+8, x-3 x-4,xth X+4, X-6 x+3,x8 B
xiv.  The determinant of the matrix [ 3 -4 ] I

)

5 -6

xv.  The solution set of linear equ{gtn
One element Two elem In inite A

No

number of elemenls
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te:- Time allowed for Section-B and Section-C is 2 Hours

and 40 minutes.

Q.

L

2

11;

12,

Note:- litempt any lHRlZl ( m\}l@@@ S,

Q-li

SECTION-B - Marks: 36
Il Aitempt any NINE parts. Each part carries FOUR
Marks,

Solve by Cramer's Rule x-2y = 5, 2x-y=6.

36
§ n[ ]
mplty | 7

l

Jraw the '_;_',l“f_-;}ll 01 the equanon xry==.
Find the valie of ad wh | Y, k- ah=14
HInd the vaiue ot a--b en a and ah=13
' 1 ‘,' F:" ! '
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Sinplify == o
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|/ X -0XTd
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¥ 1 & \ 4 T "& f
J Yarn | . s Loy
Find the square roof of X"-4X™ Jx - 2xTH
i sAR ARNRDDA brarA TI18 I, P TR 1 M- i !
St '!_le three consecutive nUMDErs 15 44, Kind th

numebrs.

?‘-- Ii Jr. i .'.'.I ‘ ._1'. I ‘;w :.I ¥ l ,l ¥ ”_..1- i M : y
Find the solution sef of the equation |3x - |

5,600

SECTION-C

jons £afty

equal marks

[[ By ushi) e larmula 5lmll tlmme poiats A (

4), B (2,6) apdQl (0 har® collinear.
Q-1\ N2rgve thiat if two opposite sides of & quadrilateral are

congruent and parallel, it is a parallelogram.

0¥

Prove that the bisectors of the angles of a triangle are

concurrent.

Q-V

l ConstruelA PQR, when ml’?} =Tem, ml}ll = 6.5 and

mPR = 5.8cm



